3.74 [95.0] Lift-off Hinges with Covers
-t e oo [ I N

zinc blind

y ML60 steel

? plated  mount
a

m

1.85[47.0] S 1.18[300] zinc front
g ML60-01 steel
plated  mount
& :
N5 % 8 THD. » cover material: 304SS
@PLCS. » cover finish: mirror polished
—~ s075] 4 31508.0] » only the male leaf has blind
ML60-01 ﬂgﬁ o or front mount option, female
leaf is blind mount onl
front mount ©.209[5.30] HOLE W/ .96[24.5] 4
@.393 [10.00] x .20 [5.08] M5 x .8 THD.
EEP C'BORE — = (2) PLCS.
(2) PLCS. ﬁ( (ML60 ONLY)
(ML60-01 ONLY) @
%
1.89(48.0] 47.0] 51 118[300]

8

=

)

Ay

part no. ML60-01 shown

1.96 [49.8] Lift-off Hinge, Solid Brass

1 &4 1 ML11CH solid brass chrome
98[25.0] 51[13.0] plated
] Q—

N6 x 1 THD. » includes (4) nickel plated M6x1
@res mounting screws
f=—=f—37[0.5] .
©.236[6.00] » 304SS pin

\ x 1 THD.

M6
X .32 [8] DEEP
(2) PLCS:

r e
-98 iilﬂ g?ﬁ 0]
| &
1]

.

59[15.0] :39[10.0]

3.15 [80.0] Lift-off Hinge, Solid Brass

{

59[15.0] H—.sg[«o.o} __-

O chrome
ML13CH solid brass
1.57[40.0] 1.10[28.0] plated
chrome
&\MGMTHD. ML13CH-01* solid brass
X328 DEEP plated
o » includes (4) nickel plated M6x1
*‘ o »‘ r*qb.zae[svoo] mounting screws
f » 304SS pin
1.02[26.0] M x 1. THD: .
/TZ)SSL‘S‘S'?EEP » part no. MLCH13-01 does not include
fasteners
‘ 1.57[40.0] 1.10[28.0]
| ®

L———L»vssﬁs.o] L«’F.sg[to,oj
3.23 [82.0] Offset Lift-off Hinge, Solid Brass

4 o — Crte o e

ML15CH solid brass chlrorr:je
1.14[29.0] plate

1.61[41.0]

» includes (4) nickel plated M6x1

\g‘}g L[‘g]TSSS‘Ep mounting screws
' » 304SS pin
’——»—.71 [18.0]
»‘ ﬁq:.zae[e.mn]
‘ ‘ $ M6 x 1 THD.
98[25.0] x .32 [8] DEEP
(2) PL
1.61[41.0] 1.14[29.0]

4 94[24.0] L L——l».w [12.0]

k¥ f:J Download SDMODELS @ www.spep.com



